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ITU    CIVIL ENGINEERING FACULTY

WATER SUPPLY AND ENVIRONMENTAL SANITATIONPRIVATE 


RECITATION 3 —


          WATER TRANSMISSION LINES

1st Question:

The diameter of the transmission line is D=150 mm and it is constructed to transmit water from a spring to a distribution reservoir. The valve at the reservoir entrance is fully open and the pipe end is open to the atmosphere. Find the maximum possible discharge that can be transmitted through the pipeline. Is this discharge enough for a town with future population of 10000 and mean daily consumption of 150 l/ind./day?
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2nd Question:

The water transmission pipeline shown below is transmitting fresh water to a town with population 9800 and maximum daily water consumption of 165 l/ind./day. The diameter is fixed all along the pipeline.

Determine the pipe diameter and show the useful hardware on the pipeline. Also calculate the decreased pressure values by valves.

(Standard pipe diameters are 60, 80, 100, 125, 150, 200 mm; maximum allowable velocity and pressure head is 2 m/s and 80 m, respectively.)
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